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Topic:- LLLE MA S2
1) Satyasodhak Samaj was founded by:-

AcaeNeI® AATSI fdbarar Fenfira fosan s en?

[Question ID = 7731]

1. Jyotiba Phule / Seiiferar wet [Option ID = 30918]

2. Iswarchandra Vidya Sagar / $ea¥dg fien 2R [Option ID = 30919]
3. M.G. Ranade / war st 3@ms [Option ID = 30920]

4. Lala Lajpat Rai / eirerr emstua w1 [Option ID = 30921]

Correct Answer :-
e Jyotiba Phule / Siiferer wet [Option ID = 30918]

2) Arrange in chronological order:-

A. Poona Pact

B. Royal Indian Navy Mutiny

C. Cripps mission

D. Non-cooperation movement

Choose the correct answer from the options given below
DICIRA 3 caat¥erd @3 -

1. yeir Uac

2. e 36 ordl wyfeoht
3. g firerat

4. 3RTEPT iGIeTol

[Question ID = 7732]
1. ¢,B,A andD/3,2,1,4

[Option ID = 30922]
2. A/B,DandC /1,2, 4,3

[Option ID = 30923]
3.D,A CandB/4,1,3,2

[Option ID = 30924]
4. A,D,Cand B/ 1,4,3,2

[Option ID = 30925]

Correct Answer :-
e D,A,CandB/4,1,3,2

[Option ID = 30924]

3) Who were not involved in the formation of Swaraj Party?

Faerst Urél o 164l 3 Bblol onfdret ot A7?

[Question ID = 7733]

1. Vithal bhai Patel / farger a1 weer [Option ID = 30926]

2. C.R. Das / 2ft. am=. grx [Option ID = 30927]

3. Motilal Nehru / dirfierer ote% [Option ID = 30928]

4. Sardar Ballabh Bhai Patel / erR acerar ss ueer [Option ID = 30929]

Correct Answer :-
e Sardar Ballabh Bhai Patel / 3reR scerr ss ueet [Option ID = 30929]

4) Which of the following cases laid down the Basic structure doctrine

foratferRaa & A fop1 ARIA of et I¥aen Rigia ol forerif¥a fpwn 3

1D = 'I'I‘)A1
I

[FaT okl
[ruesten—
1. Keshavanand Bharati case / @9rmarsic sid! @1 [Option ID = 30930]

2. Kihoto Holohan / il dxciteet [Option ID = 30931] www.FirstRanker.com
3. Vineet Narayan / faofia amermor [Option ID = 30932]
4. ADM Jabalpur Vs Shivkant Shukla / estest Swerge dormer fraraia gaen [Option ID = 30933]
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5) The idea of Judicial review in the Indian constitution was burrowed from the constitution of

HRdRI FAfaencr d ol efign @ fdar @ Fdenfore A aer fSr srm e
[Question ID = 7735]
. Australia / siizgfern [Option ID = 30934]
. U.S.A. / 3igep 5w sedtant [Option ID = 30935]
. U.K. / 3. [Option ID = 30936]
. Canada / @oamst [Option ID = 30937]

AWN—\

Correct Answer :-
e U.S.A. / iy s st [Option ID = 30935]

6) Zoonotic disease is transmitted from

Solfe diarl bt Baar 8

[Question ID = 7736]

1. Animal to Human / ug 3t srera [Option ID = 30938]

2. Human to Human / sirera 3 #mera [Option ID = 30939]
3. Human to Animal / aiera 31 ug] a@ [Option ID = 30940]
4. Animal to Animal / ug] @1 ug] [Option ID = 30941]

Correct Answer :-
e Animal to Human / ug] 31 sirera [Option ID = 30938]

7) Which are the following is not the fat soluble vitamin

forgoiferiRaea 3 3 ®lel a1 A Yerorofier fderfdror o8l &
[Question ID = 7737]

1. Vitamin C / feféror 2 [Option ID = 30942]

2. Vitamin A / feifdrer w [Option ID = 30943]

3. Vitamin D / fderfdrer st [Option ID = 30944]

4. Vitamin K / fierféer @ [Option ID = 30945]

Correct Answer :-
e Vitamin C / fderférar 2t [Option ID = 30942]

8) Colourblindness is a

391 efScdloler B 3

[Question ID = 7738]

. Sex-linked genetic disorder / 3@t 3 33 3opdford fdar [Option ID = 30946]

. Sex-linked recessive 3 genetic disorder / 31 3 J3 recessive3 aigdfdrs @R [Option ID = 30947]
. Autosomal dominant disorder / sifdRileiet yga fawre [Option ID = 30948]

. Autosomal recessive disorder / siiciierer 23R fasiigz [Option ID = 30949]

A W N -

Correct Answer :-

® Sex-linked genetic disorder / 3=t 3 33 3mopdford fdmrR [Option ID = 30946]

9) Consider the following states Which of the states given below have the constitutional obligation to have State Tribal
Welfare Minister?

A. Bihar

B. Jharkhand

C. Madhya Pradesh
D. Maharashtra.

Choose the correct answer from the options given below:-
forgarfeiRaa s uz faar @3 -

1. fer

2. IRES

3. @ ggor
4, HIRIS

Uz 3w s1e Il 3 A A Isa ot FHdenform SIRicd IS StelsIRI dervl Fidl BRI ®el @1 3|
www.FirstRanker.com

[Question ID = 7739]
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[Option ID = 30951]
3. A,BandConly / 1, 2 3liz 3 ddct

www.FirstRanker.com www.FirstRanker.com

[Option ID = 30952]
4. A,Cand Donly / 1, 3 3z 4 daa

[Option ID = 30953]

Correct Answer :-
® BandConly /2 3z 3 ddcr

[Option ID = 30951]

10) Consider the following statements.

1. Palghat Gap is located between Cardamom hills and Anamalai hills.
2. New Moore Island is located in Arabian Sea between India and Pakistan.

Which of the statements given above is/are correct?
forgaifeiRaa werell uz faar o3

1. uraEre 3ty ol usifSAal iz sieoercns usifsHal @ dia Rera 2
2. g A £U URd 3k urfdbrdrel @ dia srd ARR 3 Fea 3

Hu? f2u a1g el d A Bt A1 A /37
[Question ID = 7740]

1. 1only / @ae 1 [Option ID = 30954]

2. 2 only / @aea 2 [Option ID = 30955]

3. Both 1and 2 / 1 siiz 2 <Xl [Option ID = 30956]

4. Neither 1 nor 2 / sidi 1 3z o1 &t 2 [Option ID = 30957]

Correct Answer :-
e Neither 1 nor2 / s« 1 3R ard 2 [Option ID = 30957]

11) What is the correct sequence of occurrence of the rivers in Peninsular India as one from North to South?

A. Kaveri
B.Vamsadhara
C.Palar

D Krishna.

Choose the correct answer from the options given below.
Iz A cfgr B e 3 yRISIURI siRa 3 cifRil & Slor @1 J8t G = 37

1. oas
2. doreIRT
3. uaIR
4. g

il f3u 310 ®Is BT IUAPI BID Al IR goI?

[Question ID = 7741]
1. B,D,Aand C/ 2-4-1-3

[Option ID = 30958]

2. B,C,Dand A/ 2-3-4-1
[Option ID = 30959]

3. B,D, Cand A / 2-4-3-1
[Option ID = 30960]

4. A,D,BandC/ 1-42-3

[Option ID = 30961]

Correct Answer :-
e B, D,Cand A/ 2-4-3-1
[Option ID = 30960] www.FirstRanker.com
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I_ rehjrastines kstabtishpdydaleutta Madrasa was founded for the study of Muslim law. )
B. Jonathan Duncan, started a Sanskrit College ¥ WARsTaEE $SRANKSF 1M law and PRMGMPA-IrStRanker.com

Choose the correct answer from the options given below:
forsaiferRaa weeil R AR @3

1. anet 33<33 of Weladl AGIAT DI FATUGI JR<TH DIojel 3R AFETed faerRIl B 31erel @ fere bl 315 off
2. Siietrerel Swdl, of 3¢ ®iojet 3R Gelelom @ 3rERIe @ 1w arRRT 3 v Frma ®ids 9Rs fopn

SuR 3u a1g wewil d A Bior a1 A8 3/ F?

[Question ID = 7742]
1. A, only / oaet 1

[Option ID = 30962]
2. Bonly / @ae 2

[Option ID = 30963]
3. Both Aand B / 1 3iiz 2 Gloil

[Option ID = 30964]
4. Neither Aand B / ot 1 sic a1 & 2

[Option ID = 30965]

Correct Answer :-
e Both Aand B / 1 3iiz 2 Glait
[Option ID = 30964]

13) Who of the following social reformers published a set of notes of “Infant Marriage and Widowhood in India”?

forgsiferRae 31 3 b1 FAST JURD of "HuRda # 1919] fdars sii feramdet” @ olic @I v A YbIfdrd fpan?
[Question ID = 7743]

1. Ishwarchand vidyasagar / $e«azds femzmer [Option ID = 30966]

2. Raja Rammohan Roy / 3r&ir Jwem@dsst 21 [Option ID = 30967]

3. B.M. Malabari / . & amemarst [Option ID = 30968]

4. Swami Dayananada Saraswati / aufl ceireic 2Reard [Option ID = 30969]

Correct Answer :-
e B.M. Malabari / dt. 3. amemarst [Option ID = 30968]

14) With regard to word processing software, the process of combining static information in a publication together with
valuable information in a data source to create one merged publication is called:-

a3 grRIReI Alvcd=rR & ide #, el ywroret 3 FAfTe SRt & AT SIeT IYId A T8I SAeIDRI D AAlsiol DI YIpA SRI Uh AHIBd
YbIIoT Sollol DY Wbal Sl 3

[Question ID = 7744]
1. Electronic mail / scracifore et

[Option ID = 30970]
2. Data sourcing / 3er 20f3for

[Option ID = 30971]
3. Mail merge / et aist

[Option ID = 30972]
4. Spam mail / 303 d¥re1

[Option ID = 30973]
Correct Answer :-
e Mail merge / it ot
[Option ID = 30972]

15) The purpose of value education is best served by focusing on:-

o1 Uz &1 Bfea ol A Ay Usfdorel o> 3g9 bl gfef et :-
[Question ID = 7745]

www.FirstRanker.com



-"ra ice; ing i society / i i qejqn;[?CU)Tption Ip = 3097,-4]” ]
!1: ;EE%&%&%%QEW [Option ID f’ggg;{a] @ e [Option D = 30975
- Retigios ehd o s ld ifrfetions / e g iRy i SEREHRRSPRABTAY] www.FirstRanker.com

Correct Answer :-
e Concern for human values / aimordi =it @ fere ffar [Option ID = 30976]

16) ldentity the IP address from the following

forgsiferRae 3 sm$dl ud &bl usarer 3

[Question ID = 7746]
1. 300: 215.317.3

[Option ID = 30978]
2. 302.215@417.5

[Option ID = 30979]
3. 202.50.20.148

[Option ID = 30980]
4. 202-50-20-148

[Option ID = 30981]

Correct Answer :-
e 202.50.20.148

[Option ID = 30980]

17) In equity theory individuals assess the

sfradt RBigia i cafesadl gR siravctol foban Sirar 3

[Question ID = 7747]

1. Cost-Benefit ratio / ewia-emer fise s [Option ID = 30982]

2. Efficiency-Effectiveness trade-off / gerar-ysmasfterar =mr sreqder [Option ID = 30983]
3. Quantity-quality trade off / #gr-sjuradr arel <R siofeer [Option 1D = 30984]

4. Outcome - input ratio / uf¥vmer e siepura [Option ID = 30985]

Correct Answer :-
e (Cost-Benefit ratio / eema-cmor fise sgqura [Option ID = 30982]

18) In a particular code, HOSPITALS is coded HSOLSAPTL, the code of BIOLOGICALS will be

oo faog @rs &, HOSPITALS @1 HSOLSAPTL oifsa fosam s 2, BIOLOGICALS T ®IS 38T

[Question ID = 7748]
1. BLICOALIOSG

[Option ID = 30986]
2. BOLGICAILOS

[Option ID = 30987]
3. SBLAOILOBCG

[Option ID = 30988]
4. BSILOALCOIG

[Option ID = 30989]

Correct Answer :-
e BSILOALCOIG
[Option ID = 30989]

19) Which of the following is a meteorological hazard

forgotferRae 3 A Dot AT i Hdeh zaaer 3?7
[Question ID = 7749]

1. Avalanche / f&setar [Option ID = 30990]

2. Coastal erosion / adkr @era [Option ID = 30991]
3. Land slide / #fdr =xactor [Option ID = 30992]

4. Blizzard / swlen qwret [Option ID = 30993]

Correct Answer :-

e Blizzard / awferr qwrer [Option ID = 30993] www.FirstRanker.com
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1. Pani Panchayat / wftr garra [Option ID = 30994]
2. Chipko / Rt [Option ID = 30995]
3. Bhoodan / ggret [Option ID = 30996]
4. Pluck and Plant / i 3l wiie [Option ID = 30997]

Correct Answer :-
e Bhoodan / sigret [Option ID = 30996]

21) Which of the following is not social legislation?

forgotrferRac 3 A wiol ARG fAemor oidl 3

[Question ID = 7751]

. Protection of Civil Rights Act / omeIf¥a siférrR siféiforme a1 2i2gur [Option ID = 30998]
Beggars Act / firem forter aiférforrer [Option ID = 30999]

Right to information Act / 3yzren @1 siféfrR siférformer [Option ID = 31000]

Forest Conservation Act / dat 2iRgmur sififorer [Option ID = 31001]

N

A w N

Correct Answer :-
e Forest Conservation Act / gt 2ikemr sifaifore [Option ID = 31001]

22) Balwantrai Mehta was associated with

SCTdARRI ABAT D ATA I3 A

[Question ID = 7752]

Community participation / amjciRp smeficrt [Option ID = 31002]
Community welfare / JmjeiRes weemor [Option ID = 31003]
Community Development / amjeiRie Rt [Option ID = 31004]
Community Organization / JgeiRia Jstoor [Option ID = 31005]

A W N -

Correct Answer :-
e Community Development / JmeiRie fd@rt [Option ID = 31004]

23) Balika Divas in India is being observed on

IR A qIfcrept a1 #AeIRn sirar 3

[Question ID = 7753]
1. 9t October / 9 sracaz

[Option ID = 31006]
2. 9thNovember / 9 sidsz @1
[Option ID = 31007]
3. 9thDecember / 9 ez

[Option ID = 31008]
4. 9thSeptember / 9 Rz

[Option ID = 31009]

Correct Answer :-
e 9" December / 9 friax
[Option ID = 31008]

24) According to Article 170, the maximum member of the state Legislative Assemblies which are directly elected could be

3tofed 170 o 31ofAR, IS fqermoradsli o> Hiel ol Sirel &I siftradad Hiar 8 Addl &

[Question ID = 7754]

1. 403 [Option ID = 31010]
2. 485 [Option ID = 31011]
3. 484 [Option ID = 31012]
4. 500 [Option ID = 31013]

Correct Answer :-
e 500 [Option ID = 31013]

foreqr 5331, v Femadh 9icll, gprer arrgeen # oW IVaFdiStiRamker.com
[Question ID = 7755]
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Correct Answer :-

e Jahangir / swiefiz [Option ID = 31015]

26) Match the list & select the correct answer using codes given below:-
I A Rretrol @3 317 oftd 3T 319 IS @1 IuNeT BID A IR Yol

Match List | with List Il

List I / 3=it- I (Local winds)  |List II / w=0- IT (Countries)

A. LOG / A.) dfer I. West Africa / I) ufamr smior

B. Samun / B.) Jm3st II. Former yugoslavia / IT) gd AReenferRn
C. Harmatian / C.) safdriet ~ [III. Pakistan / III) uiféedret

D. Bora / D) €t IV. Iran / IV) $0aT

Choose the correct answer from the options given below:
DIS: -

[Question ID = 7756]

1. A-ll, B-lIl, C-IV, D -1 / A-I1, B -1II, C -1V, D -I
[Option ID = 31018]

2. A-lll,B-IV,C-l,D-Il/A-T1II,B-1V,C-I,D-1I
[Option ID = 31019]

3. A-IV,B-I,C-Il,D-II/A-1V,B-1,C-1II,D-1II

[Option ID = 31020]
4. A-1,B-1l,C- ID-IV/A-1,B-1I,C- IIID- 1V

[Option ID = 31021]

Correct Answer :-
e A-IIl,B-IV,C-I,D-Il/A-1II,B-1V,C-I,D-1I
[Option ID = 31019]

27) Flat - topped sub-marine mountains are called

Tqcl ORaR IU-AHSG UsISI DI Dal Sl &
[Question ID = 7757]

. Sea mounts / JeR #ise [Option ID = 31022]

. Abyssal Mounts / efé=ter @isct [Option ID = 31023]
. Guyots / spiieat [Option ID = 31024]

. Sea Volcanoes / a1} saremagdt [Option ID = 31025]

A W N -

Correct Answer :-
e Guyots / spireat [Option ID = 31024]

28) What is generally not true of shifting cultivation

33 iz uz forfircar it o1 21 o1dl &

[Question ID = 7758]

. Rotation of field / &xq seror [Option ID = 31026]

. Absence of drought animals / onor® S8 8ol arel ugpil & sguierfer [Option ID = 31027]

. More often than not the homestead is not shifted / &1 ®r arR-aR Fererl¥a ol fpen smem [Option ID = 31028]
. Itis a great catalytic force for community life / =& JEGIRID Sfider & e v #Harel 3R® dct 3 [Option ID = 31029]

A W N -

Correct Answer :-
e More often than not the homestead is not shifted / a1 @1 aR-arR ecrala o fipen sen [Option ID = 31028]

29) Which one of the following state is the largest producer of Tin

forgotferRaa 3 A Dol AT IS ol DI AGA ST ICUIGD 3
[Question ID = 7759]

Rajastan / senat [Option ID = 31030]
Odisha / adfem [Option ID = 31031]
Jarkhand / smaus [Option ID = 31032]
Chhatisgarh / @tfteere [Option ID = 31033]

A W N -

www.FirstRanker.com

Correct Answer :-
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SIS . Q. UA DI Y3 ol 3:-

[Question ID = 7760]
1. Zila Sewa Samiti / fSrem Jar afaifer

[Option ID = 31034]
2. Zila Sadbhawna Samiti / ftemr Jrgrden Aifdifer

[Option ID = 31035]
3. Zila Samanwaya Samiti / fSremr JeteaRT Jfdfer

[Option ID = 31036]
4. Zila Saksharta Samiti / forem merar Aafifer

[Option ID = 31037]

Correct Answer :-
e Zila Saksharta Samiti / fSrem Jmgrear ifdifer

[Option ID = 31037]
31) Match the list & choose correct answer:-
it A Brairer @3 3 wE) 3ar goli -

Match List | with List Il:-

List I / it | List IT / it 1l
A. HIV/AIDS is more / A. wasmsdt 1. Vienna / |.
oA At 3
B. Environment conservation is
part of education / B.uafazur

II. Population / |l.Srorizsan 1318 @1

. HET 3
Az eTuT
C. Incidence of bounded labour .
. III. Agricultural labourers / lll. @ft
C.dggam Fsigdt g
eI
D. World Conference on IV.Socio — human Rights held on
D.sreraiférpr uz meRifera faea medical problem / V.3 -Rifdeea|
RTFdIciol RTHIRIT

[Question ID = 7761]
1. A-Il,B-NI, C-1V,D -1

[Option ID = 31038]
2. A-1,B-1l,C-lIl,D-1IV

[Option ID = 31039]
3. A-IV,B-Il, C-lIl,D-1

[Option ID = 31040]
4. A-ll,B-IV,C-l,D-1

[Option ID = 31041]
Correct Answer :-
o A-IV,B-Il,C-lll,D-1
[Option ID = 31040]

32) Which of the following is an informal rural institution?

forgaiferRaa 3 3 Blol Ub sfeliuaniya syEiivr e 37

[Question ID = 7762]
1. Village Panchyat / sper darra

[Option ID = 31042]
2. Family / ubar

[Option ID = 31043]
3. Youth Club / Jg geta

[Option ID = 31044] www.FirstRanker.com
4. None of these / sowi 31 @IS oft ordt
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[Option ID = 31042]

33) After identifying the problem of a student the correct sequence adopted by a counselor to solve the problem is:-

A. Generate possible solution
B. Choose the best solution

C. Evaluate each solution

D.Asses the success failure of solution
E.Implements the solution

Choose the correct answer from the options given below:-

U B Dl AT Dl UEdIel Bol D dIG T DI &l B D o0 Ub WREINGIAT TRI UG 318 AL} oA

A .3i31a JAATETST IcUool DI
B.1R] sreo1 J1edI6l gol

C.g® AAIEIel DI JoAidol DI
D .3emenst 6 AWEIAr 3RIBCIAT BT 1aRTel ST &
E .96t ol ofe) @l &

[Question ID = 7763]
1. A,C,B,DandE

[Option ID = 31046]
2. A,C,B,Eand D

[Option ID = 31047]
3. C,A,B,Eand D

[Option ID = 31048]
4. C,A,D,B,andE

[Option ID = 31049]
Correct Answer :-
e AC,B,EandD
[Option ID = 31047]

34) The full name of 'BHIM' is to:-

'BHIM' @1 ygr o1t 3: -

[Question ID = 7764]
1. Bharat integrated for money / sea  $éSes Wiz it

[Option ID = 31050]
2. Bharat interior interchange money / #sira $dfRr scedsr #olt

[Option ID = 31051]
3. Bharat highly integrated mechanism / siea sisclt sésRs Ao

[Option ID = 31052]
4. None of these / sowi 3 @IS oft ordt

[Option ID = 31053]

Correct Answer :-

e None of these / sout 31 @I oft ordt
[Option ID = 31053]

35) Negotiation' may consider as:-

olenfeugrol fommvfir 3: -

[Question ID = 7765]
1. Soft skill / 3diwe Baer

[Option ID = 31054]

2. Hard skill / Rber .
ard skill / aré www.FirstRanker.com

[Option ID = 31055]
3. Business, communication & Hard skill / fasoRt, @wjferdre vd a8 Rdd RIaARI, AR 3R Dfder Bioket



» EitstRanker.com

jE ker's choice . -
lh'mﬁ“ shosvn www.FirstRanker.com www.FirstRanker.com

Correct Answer :-
o Soft skill / Jdifue Bwer

[Option ID = 31054]

36) International Literacy day celebrated on:-

siRicc merRar f$at v &t F1eIRN Sire 3: -

[Question ID = 7766]
1. 5 December / 5 f&aiaz

[Option ID = 31058]
2. 9 December / 9 f&iaz

[Option ID = 31059]
3. 24 November / 24 srdaz

[Option ID = 31060]
4. None / @ oidf

[Option ID = 31061]
Correct Answer :-
e None / o oidt
[Option ID = 31061]

37) ‘'Ujjawala Yojna' is dedicated to

‘Ioolddil Alstoll’ fpad fore waftfa 3

[Question ID = 7767]
1. A) Elimination of Malnutrition / divor @1 3cdctor

[Option ID = 31062]
2. B) Elimination of female feticide / @ 9[ur =u @I IodcTol

[Option ID = 31063]
3. C) Decrease use of fossil fuel / Sfiarear Serot a1 IuRier wat dwel

[Option ID = 31064]
4. D) Only C is correct / @qet C 38t 8

[Option ID = 31065]
Correct Answer :-
® D) Only Cis correct / dae C 3@ 8

[Option ID = 31065]

38) Consider the following statements and identify incorrect.

forgotferRaa weril ur faar @3 iz sicra & usarer o3 |

[Question ID = 7768]
1. Panchayati Raj system (PRIs) was started from Rajasthan. / daridt 3t caazen (PRIs) Jsrerer 3 9 & o oft

[Option ID = 31066]
2. Minimum reservation for women in Panchayati Raj system is to 33% / uarrdl 361 wraen 3 aifdensii @ e solad siRemr 33% &

[Option ID = 31067]
3. 60-70% population of India dependent on agriculture. / smd &t 60-70% SorRRzn B w fonfz 3

[Option ID = 31068]
4. All above are correct / 3wl sft 3 &

[Option ID = 31069]

Correct Answer :-
e All above are correct / 3udren Jsft 31 &

[Qotion D = 310491
T T

39) Which one is incorrect? www.FirstRanker.com
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[Option ID = 31070]
2. Mahatma Gandbhi is known as Martin Luther of India. / e a1l @l 9RA D ol [UR D FU 3 Slol SIFL &

[Option ID = 31071]
3. Every year Educational Development Index (EDI) made by UNESCO. / ol GRI FelrRll SR 82 el Iifa1d R Jamia (EDI)

[Option ID = 31072]
4. The largest population of scheduled tribe live in M.P. / SoRIfI Siersifer &t =T TSt Smardt Ly

[Option ID = 31073]
Correct Answer :-
® Mahatma Gandhi is known as Martin Luther of India. / st srieft & s @ anfdor cfeR @ Fu 3 Sl ST 3

[Option ID = 31071]

40) How much percentage of labour force works in informal sector in India

IR 3 3reliuanifs® 8iq 3 9T acl I fbden yferora 3

[Question ID = 7770]
1. 30-40%

[Option ID = 31074]
2. 80-90%

[Option ID = 31075]
3. 10-20%

[Option ID = 31076]
4. 20-30%

[Option ID = 31077]
Correct Answer :-
e 80-90%

[Option ID = 31075]

41) Which scheme is dedicated to improve skill among minority youths?

SICURIIRID JAI3il @ dia wiorel 3 JUR @ fera wlel Al Alston AAfda 3

[Question ID = 7771]
1. Parvaaz / uzamt

[Option ID = 31078]
2. Dastkaar / g¥amr

[Option ID = 31079]
3. Tareekh / aif¥aa

[Option ID = 31080]
4. All of these / sft fdaca

[Option ID = 31081]
Correct Answer :-
® Parvaaz / wamt

[Option ID = 31078]

42) ldentify the incorrect sentence about Sukanya Samriddhi Account

Aol ALy FIA D aR 3 IcId dIaRI Dl usrel DI
[Question ID = 7772]

1. Account can open in any post-office & government banks. / zar fis=ft 9ff S1perR 8l 2RPR! dopi 9 et Awar & [Option ID = 31082]
2. Its covers all child which including PH / s3ra> 21ft @t I onfdret fopen srn & fSRwI diva onfrer & [Option ID = 31083]

3. Minimum account balance is to Rs. 1000. / sjerest arer 9w 1000 2 [Option ID = 31084]

4. Sukanya Samridhi valid up to 21 years of age. / Jmo=n 9k 21 ad &l 3R] dd e & [Option ID = 31085]

Correct Answer ;-

e |ts covers all child which including PH / sara 21t g @t onfdret fopen sri 3 fSrwt diva onfirer & [Option ID = 31083]

----------------------------------------------------------- www FirstRanker.com-----rormmmrmmrem oo
43) Which one of these may be considered as an aim of youth Hostel?
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. 1) To encourage youth for travel and for experience of cultural heritage of country. / amqr @ fer siiz Ser &t ARDicrD fARRIT @ sropera @ fore Farsit ot
QA3 Dol

[Option ID = 31086]

2. 2) Accommodation with affordable price for youth. / Jarsit @& fere it St @ amer smart
[Option ID = 31087]

3. 3) Only (1) is correct / 1 3@t & fdpea

[Option ID = 31088]
4. 4) (1) & (2) are correct / (1) 3liz (2) Sl &t &

[Option ID = 31089]

Correct Answer :-
e 4) (1) & (2) are correct / (1) 3iiz (2) clolt At &

[Option ID = 31089]

44) Which one is correct about right to Information?

Yerol & 3B B a3 Blol AT Borel A8 3?7

[Question ID = 7774]

RTI is a social right / smdisns v Amwenfse siftipr & [Option ID = 31090]
RTI is constitutional right / amdisms idenford sifrepre & [Option ID = 31091]
RTl is a personal right / smdisns ew =ifeper siferr & [Option ID = 31092]
RTI is a legal right. / smR.cLams. v @opl siftr & [Option ID = 31093]

A W N -

Correct Answer :-
e RTIis a legal right. / smeLans. v @l siférpr & [Option ID = 31093]

45) Which article of the constitutions is not associated with children

Jifrenst @1 wlol A1 3nféaser acdl A 3T o1dl 37

[Question ID = 7775]
1. Article -12 / sroeas -12
[Option ID = 31094]

2. Article-24 / scss -24
[Option ID = 31095]

3. Article-45 / aigjeds -45

[Option ID = 31096]
4. Article-15(3) / (&) sgeds -15 (3)

[Option ID = 31097]

Correct Answer :-
e Article -12 / sigreds -12

[Option ID = 31094]

46) Who is Juvenile?

fepoiz wlor 3?7

[Question ID = 7776]

1. A person who has not completed 21 years of age. / vw caftp forwel 21 ad &l 3Ry g3t ol &I & [Option ID = 31098]
2. A person who has not completed 16 years of age / v® cafep foriel 16 adf &l 3] gt aidl &bt & [Option ID = 31099]
3. A person who has not completed 18 years of age / vw wafep foriol 18 ad &l sy g3t otdl &bt & [Option ID = 31100]
4. A person who has not completed 25 years of age. / v® caftp forier 25 ad &t 3wy gt ot &bt & [Option ID = 31101]

Correct Answer :-
® A person who has not completed 18 years of age / vw <ifep 5ot 18 adf & 3] g3t oidt bt 3 [Option ID = 31100]

47) Which is not correct about ‘Education’?

Sl 'foren’ @ & i AT o8t 3?7
[Questlon ID 7777]

1 Q g hango . o ion. Ih_'!11f\’)'l

2. Educatmn is not instrument of modermzatwn / f‘I&H 3ﬂgl%i?ﬁaml Pl Aleel oldl 3 [Optlon ID = 31103]

3. Education ensures positive action / frgr arprRicas cRaN\AwWE&=IT S thRam koer3coim
4. Education cultivates necessary intellectuals / fdrgm smaeeics fagrell @ At war & [Option ID = 31105]
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forgetfeiRad werell u? faar @3 iz srcrd & usdrel o3 -

[Question ID = 7778]
1. A) Revolution is fundamental change of the existing social order. / @ife1 JilS[cT APID RIAFAI DI I UR¥dciol &

[Option ID = 31106]
2. B) It does not occur gradually / & &fi3-¢f3 afeq o8t dxar &

[Option ID = 31107]
3. C)Only Ais correct / @dc1 A3 2

[Option ID = 31108]
4. D) (A) & (B) are correct / (A) & (B) 3@t &

[Option ID = 31109]

Correct Answer :-

® C)Only Ais correct / ddct A 3@l 8
[Option ID = 31108]

49) With reference to National Board for Wildlife, Consider the following statements
Which of the statements given below is are correct?

A. It has been constituted under the Wildlife Protection Act. 1972.
B. It is headed by Minister of Environment, forest and Climate Change.
C .Its recommendations are binding on the Union Government.

Choose the correct answer from the options given below:

ICERT doereiid dIs @ e 3, forafciRaa el ur kar @3

A. 318 gousiia eIl Siferfore @ dad s1fsd fsn srm 8 1972
B. sardhl sreargten ufazul, gt SiiR Sicrar] uf¥ddol ddl o &
C. sadl RIwIfgl B IRPR D AU TRt &

SUR U 31w werell d A Dot A1 I8 &/ 7

[Question ID = 7779]
1. Aand Bonly / @act A sk B

[Option ID = 31110]
2. Band Conly / @aet B sz C

[Option ID = 31111]
3. Aonly / daa A

[Option ID = 31112]
4. A,BandC /A, B iz C

[Option ID = 31113]
Correct Answer :-
e Aonly / dac A
[Option ID = 31112]

50) Emissions from which of the following sources can cause acid rain?
Select the correct answer using the code given below.

A. Volcanoes

B. Swamps

C. Plankton in the ocean

D. Power generation from fossil fuels

Choose the correct answer from the options given below:

forgotferRaa 3 A oo Fa A swrat auf 31 TG 3?7

A. sarcgdt
B. cerecii

C. IBRIPE 3 wa®m www.FirstRanker.com
D. Sfiarear $ere1 A fasrcht scurcar
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[Option ID = 31114]
2. B,CandDonly / @ac B, C 3z D

[Option ID = 31115]
3. AandDonly / @aet A siz D

[Option ID = 31116]
4. A,B,CandDonly /A, B CsaiieD

[Option ID = 31117]

Correct Answer :-

e A/B,CandDonly /A, B CaizD
[Option ID = 31117]

51) Sacred Groves in India can be best defined as

HRA 3 A D SYA DI AT I e A ufeftia gz s Apar 3

[Question ID = 7781]

1. The patches in Sunderban mangroves where maneater tigers are worshipped out of fear. / Jjc2qat do]ia 3 tq, Siat e qrEl DI ST D PRI YSll SIT 3
[Option ID = 31118]

2. The plantation of trees like coconut and banana that produce fruits which are used as offerings to deities. / snf¥Iet siiz @et St gail @1 Aot Sit Beil o1
IeUIGoel D 3 fTel! IURIST SadIail I Y6 ® #U 41 fopan siar & [Option ID = 31119]

3. Tracts of forest in which all the trees and wildlife within are venerated and given total protection / Sisret @1 gac ot st UsT sk doersiidl &t daorr bt
Sircdt 8 afiz 308 qet 2isiur f&am siwar 8 [Option ID = 31120]

4. Forests where wild animals are sacrificed as a part of a ritual. / dot I8l v® 3IoJEoIel @ PI D HU 31 SPIcl! SlolaR] DI afet ¢t st & [Option ID = 31121]

Correct Answer :-
e Forests where wild animals are sacrificed as a part of a ritual. / dol Si8l v 3IJscTel D 1BT D FU I Soleil SieraR] @i afet ¢t siedt & [Option ID = 31121]

52) With reference to tropical and temperate forests, consider the following statements:
Which of the statements given below is / are correct?

A. Tropical forests consists of very high tree species as compared to temperate forests.

B. Temperate forests have a thin canopy of trees whereas tropical forests have a tick canopy.

Choose the correct answer from the options given below:
Souresfedefizr siiz Fsrofiaiour aell @ et 3, forcifciRaa werEl uz far &3

A. Farofidiour goil &t getorr 3 scurmiedei= a6l 3 aga sifere UsI & yoenferr adl 3

B. Fraofidiour qell & USt & vas udcll a3l akdil 3 safds swrpiedeli el # v Ifcdl <car alar &
U U s1w weretl 3 A Blet A1 A8 3/ 37

[Question ID = 7782]
1. Aonly / @dact A

[Option ID = 31122]
2. Bonly / @aa B

[Option ID = 31123]
3. BothAand B/ Adie B dit

[Option ID = 31124]
4. Neither AnorB/arcdrA sicardt B

[Option ID = 31125]
Correct Answer :-
e BothAandB / Asiz B gt
[Option ID = 31124]

53) Consider the following statements regarding the Basl Convention 1989.
Which of the statements given below is / are correct?

A. It regulates the import and export of hazardous waste among the parties to it.

B. It establishes a legally binding agreement for waste management.

) ~www.FirstRanker.com
Choose the correct answer from the options given below:
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[Question ID = 7783]
1. A only / @ae A

[Option ID = 31126]
2. Bonly / daer B

[Option ID = 31127]
3. BothAandB /A aliz B @il

[Option ID = 31128]
4. Neither AnorB /adlA sicard B

[Option ID = 31129]
Correct Answer :-
e A only / dactA
[Option ID = 31126]

54) Consider the following planets:

Which of the above given planets are considered as inner planets?
A. Neptune

B. Jupiter

C.Saturn

D.Uranus

Choose the correct answer from the options given below:-

forraiferRaa sl uR feramr @3:

A .olueget

B.geufea

C.orfor

D .31

Uz 3w a1u sxEl 9 A b2 siiaf¥® sJg Ao Sirar 3?7

[Question ID = 7784]
1. A,BandDonly / A, B3z D dact

[Option ID = 31130]

2. A,CandDonly /A, C sieD &
[Option ID = 31131]

3. Bonly/B

[Option ID = 31132]
4. None / @i$ oidl

[Option ID = 31133]

Correct Answer :-
o None / @i$ aidt
[Option ID = 31133]

55) The famous Mount Olympus is located in which of the following Countries?

gfRrg aise siftiuar oreifeiRaa 3 A e Sor 3 e 3?7
[Question ID = 7785]
1. Spain / 3Ua1 [Option ID = 31134]
2. Germany / swisft [Option ID = 31135]
3. ltaly / secft [Option ID = 31136]
4. Greece / sfta1 [Option ID = 31137]

Correct Answer :-

® Greece / sffat [Option ID = 31137] www.FirstRanker.com
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A. For the formation of dew, dew point shouldW¥BAIdv kEERABKQS peAM www.FirstRanker.com
B. For the formation of the frost, dew point should be at or above the freezing point.

Choose the correct answer from the options given below:

forraifeiRaa el U= frar o3

A3l & 31001 @ fer, sii fiig st 21 ol 3o anfde
B.®re @ s106 @ ferw, 3t fdg RBaie fdg ur a1 331 HuR Aol aifde
SR 3 o1 el i A Blet 1 W8 3 /3?7

[Question ID = 7786]
1. Aonly / dact A
[Option ID = 31138]
2. Bonly / @aa B
[Option ID = 31139]
3. BothAandB /A 3z B cleil

[Option ID = 31140]
4. Neither AnorB /adl A sicardt B

[Option ID = 31141]

Correct Answer :-
® Neither AnorB /aiar A sikard B
[Option ID = 31141]

57) “ Ladang; is a local name of shifting cultivation practiced in

c1Gior SiI f9IfiésT Dediagret BT FeUTofiRI oIFT 3 Sl 33IcT 3 IR SIAl &
[Question ID = 7787]

Southeast Asia / sfémr gd ufdrm [Option ID = 31142]

Africa / smter [Option ID = 31143]

Central America / siear s@f¥ar [Option ID = 31144]

Europe / 3u [Option ID = 31145]

A w N =

Correct Answer :-
e Southeast Asia / afdwr gd ufdrn [Option ID = 31142]

58) Which of the following directive principles cannot be challenged for violating the right to equality under Article 14?
Select the correct answer using the code given below.

A. Equitable distribution of the community material resources.

B. Equal pay for equal work for men and women.

C. Preventing the concentration of wealth.

Choose the correct answer from the options given below

31oIe8c 14 @ dad AATGIAl D AfUBR DI Iccitel Bl D fere orsrfeRRaa 3 2 ®la A Hifaforsere Rigia of geildl ordf & s Aacdt 37
A geiRic FHnerell @I Frel frearur

B.ygwul siiz sifdcmsil & fore el ol @ fore eIt dael

C.¢re1 &1 upIB[Ar @l Aol

ofid 3w 31T IS @1 IURAPT BB AL IR gol

[Question ID = 7788]
1. AandBonly / dact A3z B

[Option ID = 31146]
2. Bonly / @ac B

[Option ID = 31147]
3. AandConly / Asic C &

[Option ID = 31148] ]
4. A,BandC /A, BaizC www.FirstRanker.com

[Option ID = 31149]
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59) With reference to Right to privacy in India consider the following statements:
Which of the statements given above are correct?

A. Right to Privacy has been made fundamental right in K.S. Puttaswamy case.

B. Unauthorized phone tapping is violative of right to privacy.

C. In India only the Central government is allowed to tap the phones.

Choose the correct answer from the options given below:

R 3 forsrar @ siferpr @ e 3 forraferRaa wermll Uz far «3:

A. @ua. ygrapi st # fosar o sif2rer @ dAlfere 2R Toir SR 3
B. smaférapa wier ftisl forstar @ sifererR @1 Iecidot 3

C.911q 31 dac Dg IRDPR DI Blal ¢4 Bl b sropafer 3

Uz f3u 31 Blol A DGt AWl 37

[Question ID = 7789]
1. A and Bonly / @act A 3z B

[Option ID = 31150]
2. AandConly / A sie C &

[Option ID = 31151]
3. BandConly /B sk C &

[Option ID = 31152]
4. A,BandC/A,B 3 C

[Option ID = 31153]

Correct Answer :-

e A and Bonly / @act A siz B
[Option ID = 31150]

60) With reference to the Pradhan Mantri Kisan Samaman Nidhi (PM-KISAN), consider the following statements: Which of
the statements given below is /are correct?

A. Under the scheme, income support of Rs. 6000- per year in three equal instalments will be provided.
B. It is only available to the farmer families who collectively own cultivable land up to 2 hectares.
C. The scheme to be implemented as a Central Sector Scheme with 100% financial support by the central government

Choose the correct answer from the options given below:-

geroric]l Rparet forfer (PM-KISAN) @ zicet 3, foraifeiRaa el ur far ®3:

A .:0Sten @ dsa 6000 SR o1 31 Adetel il Jraret fopdi 3 yfer ad ygror fosm stresm

B.u1z dact fovearel uf¥art @ fore suctser 3 St AWR® U A 2 IaeAR dd Fdl A yfor D mfers 3
C.35g DR GRI 100% il JsrIar ATl @ WU 3 e, Bl Siiol dreil Alsioll

SUR 13 o1 wereil i A dlet A1 A8 3 /3?7

[Question ID = 7790]
1. AandB only / @act A sz B

[Option ID = 31154]
2. Conly / @ae C

[Option ID = 31155]
3. AandConly / A sk C &

[Option ID = 31156]
4. A,BandC /A, B aiz C

[Option ID = 31157]

Correct Answer :-

¢ AandConly /A aie C & www.FirstRanker.com
[Option ID = 31156]
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A teirRYRSHAREYSE Uiingihe code given below. :
A. Equal s:lbjection of all persons to the ordinar‘(}’\’a\’%voﬂﬁﬂﬁé‘%ﬁh&g& by ordinawwm'g)ltm;.Ranker'com

B. Similar application of the same laws to all persons who are similarly situated
C. Absence of special privileges for any person.

Choose the correct answer from the options given below:

HR¢ART Zifdernst @ dsd Ygrel febu s1e "Halrel Mol JeN " D Ader 3 Diol AT DA AT o181 37

A ATHII Plofel D AAET GICIdl SR YMRAA ATHIGI PDlofel I AT SAThRIl UR A6 WU A ¢I¥] Dol
B..>am31r61 uf:RAierIl 3 35 3@ clisll UR Aol DIsfoll PI TP HdATel cII¥] Bloll

C.3ibof} cafep @ ferg fadiy fadunRidrR @ arsra

il fou 31T ®is BT IURRT B A IR DI TIT BT

[Question ID = 7791]
1. Aand C only / @act A siiz C

[Option ID = 31158]
2. Bonly / @aa B

[Option ID = 31159]
3. Conly / @ae C

[Option ID = 31160]
4. None / @ oidl

[Option ID = 31161]

Correct Answer :-

e Aand C only / @aa A siiz C
[Option ID = 31158]

62) Consider the following statements with reference to the inclusion of princely states at the time of independence:
Which of the statement given below is / are correct?

A. At the time of independence, only fifty percent of the princely states had joined India.

B.Junagarh was made a part of India by means of referendum.

Choose the correct answer from the options given below:

Taddgar @& IR RaRIAl o onfirel w2el @ e 3 fowafeRaa werEll us far ®3:
A 3ISIIEY @ H3r1, dacl uarA yferord famad v d onfdrer g€ off

B..STo131e 30 @ S SJolPIG Bl $IRd I 33T oI SR o1

Uz &1 SR Blet AT Beret WS &/ 3?

[Question ID = 7792]
1. Aonly / @ac A

[Option ID = 31162]
2. Bonly / daa B

[Option ID = 31163]
3. BothAandB /A aie B dil

[Option ID = 31164]
4. Neither AnorB/aicdt Asikard& B

[Option ID = 31165]
Correct Answer :-
e Bonly / @aa B
[Option ID = 31163]

63) With reference to the removal of the judges of the Supreme Court, consider the following statements.

Which of the statement given below is / are correct?

A.Provision of removal of judge is taken from the Goveﬁnmerﬁof India Act, 1935
www.FirstRanker.com

B.The motion of the Lok Sabha
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A .carnefior ol gerol BT Yatiiol IRd IDR feiforme, 1935 A form sk 3

B. ciiosasnm @ Aol $RI SUR A1 sRi @il AT ereT W8t & / 87

[Question ID = 7793]
1. A only / @aa A

[Option ID = 31166]
2. Bonly / @aa B

[Option ID = 31167]
3. BothAandB /A aie B drif

[Option ID = 31168]
4. Neither AnorB /ardrA sizardt B

[Option ID = 31169]

Correct Answer :-

® Neither AnorB /ol A sizardl B
[Option ID = 31169]

64) Which of the following parties were established by Dr. B. R. Ambedkar?
Select the correct answer using codes given below.

A. The peasants and workers party of India

B. All India Scheduled caste federation C.The independent Labour party

Choose the correct answer from the options given below

3t . 3R 3EIsD: A foworferlRaa 3 A vt cor Bt emuen & off?
A sz fopatrot 3R aeIge ot

B.aifact smcitar srogfera sufer serRia

.33 der urdt

fou 3Tu IS I SWRIPT BB AL IR dol: -

[Question ID = 7794]
1. Aand B only / @ae Asiiz B

[Option ID = 31170]

2. BandConly/ B 3k C&
[Option ID = 31171]

3. AandConly / A sk C&

[Option ID = 31172]
4. A,BandC/A, B sz C

[Option ID = 31173]

Correct Answer :-
e BandConly/ B 3k C&
[Option ID = 31171]

65) The Rowlatt Act aimed at

Jcic wac @1 339 on

[Question ID = 7795]

1. Compulsory economic support to war efforts / g gl @& fere siforarf suféfes sriar [Option ID = 31174]

2. Imprisonment without trail and summary procedures for trail. / fei crIct siiz sifdcrfdaa yfpen @ d@dt gerren [Option ID = 31175]
3. Suppression of Khilafat movement / Ractiwa siicictor @1 Garot [Option ID = 31176]

4. Imposition of restrictions on freedom of press. / Y1 &t Faddar w yfese [Option ID = 31177]

Correct Answer :-
e |mprisonment without trail and summary procedures for trail. / fem grIct iz sifdcifdaa yfépen & <t gotron [Option ID = 31175]

€ Lahore session O e Indian National Congress 1S very important in history because 1Ich O e statemen

. . 2 ]
given below is/are correct? www.FirstRanker.com
A. The Congress passed a resolution demanding complete independence
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SRR ASERT Biv)A (1929) o1 erdlz siferdora sfeerRt 3 aga Ascagui 3 a=iife
A . i5)1 ot guf Faddar &t 1ier @ gu ud gdama urfyd s

B.mraufirRil siiz creadferil @ dia 6 as1E 33 A # & ot o off

C.3 uq & <l aweg, Rigia ol F1f¥st @ gu v gara urfed fopn sri er
Uz a1 SR Blet AT Beret A6 &/ 87

[Question ID = 7796]
1. Aonly / daa A

[Option ID = 31178]
2. BandC/ Bair C

[Option ID = 31179]
3. AandC /A sie C

[Option ID = 31180]
4. None of these / sowi 3 ®IE oft ot

[Option ID = 31181]

Correct Answer :-
e Aonly / dac A

[Option ID = 31178]

67) Jal Shakti Abhiyan Campaign for water conservation was launched in which year by the Central Government in India?

SIcl J2gIvT @ feru SieT 9IRp SIfRIel HIRA 3 Bg IRPR FRI 9YRs fopT SRIT a1
[Question ID = 7797]

1. 2019 [Option ID = 31182]

2. 2020 [Option ID = 31183]

3. 2015 [Option ID = 31184]

4. 2010 [Option ID = 31185]

Correct Answer :-
e 2010 [Option ID = 31185]

68) Eritrea, which became the 182"4 Member of the United Nations in 1993, is one the continent of?

1993 3 Ay g @1 182 ai IS dolol arell s3CAT ABIE fop 1 3?7

[Question ID = 7798]
1. Asia / uforn

[Option ID = 31186]
2. Europe / R

[Option ID = 31187]
3. Australia / sifegfern

[Option ID = 31188]
4. None of these / sori 3 @IS oft ot

[Option ID = 31189]

Correct Answer :-

® None of these / soit 31 @IS 8t ol
[Option ID = 31189]

69) Identify the place where Garampani sanctuary is located in India.

3IA FATel &bl Usdlel B3 Slai MIRA 3 SRAUTGH IR f¥erd 3: -

[Question ID = 7799]
1._Gangtok, Sikkim / sisciep, Rifdrapar

[Option ID = 31190] .
2. Korima, Nagaland / @i, smmets www.FirstRanker.com

[Option ID = 31191]
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[Option ID = 31193]

Correct Answer :-
e Diphu, Assam / dlw, srEl

[Option ID = 31192]

70) Which among the following is the largest railway station in the World?

forgoifeiRaa & A dlol AT fAea @1 AGA TSI YT F9IoT 37

[Question ID = 7800]
1. Grand central Terminal park Avenue, new York. / 35 3iget cfdforet ur vdoe, oey i

[Option ID = 31194]

2. Central Station London, Uk / 3iger 3¢9t cigel, fgeet
[Option ID = 31195]

3. Kolkata Railway station, India. / IcIIr Ic1d 39061, HRA

[Option ID = 31196]
4. None of these / soii 3 oIS oft ordt

[Option ID = 31197]

Correct Answer :-
e Grand central Terminal park Avenue, new York. / 3]s 3icet cfiforet urd vdoe], 53 fd
[Option ID = 31194]

71) Name the State in India having the largest area among the following options

forgatfeiRaa faraseul 3t A A 3T &I ARA o b T BT 3

[Question ID = 7801]

1. Rajasthan / Jsrere [Option ID = 31198]

2. Uttar Pradesh / 32 yger [Option ID = 31199]
3. Madhya Pradesh / e gygor [Option ID = 31200]
4. Maharashtra / s@rreg [Option ID = 31201]

Correct Answer :-
® Rajasthan / Iezenmat [Option ID = 31198]

72) Who among the following started two major newspapers such as Maratha and the Kesari

forgsiferRae 3f 31 Rp2ral IO Sk B SIR1 Q1 Yo MR U 9Re [
[Question ID = 7802]

1. Lala Lajpat Rai / eren emsmaa w1 [Option ID = 31202]

2. Gopal Krishna Gokhale / siturer gywor siret [Option ID = 31203]

3. Bal Gangadhar Tilak / @ret somer feret [Option ID = 31204]

4. Madan Mohan Malviye / s1ger ditget airerdizr [Option ID = 31205]

Correct Answer :-
e Bal Gangadhar Tilak / aret simeR feretas [Option ID = 31204]

73) Golf Player Vijay Singh belongs to which Country?

siicw Racrsl faerr RBis 5t Sor 2t wedtia?

[Question ID = 7803]
1. UK / gt

[Option ID = 31206]
2. India / smea

[Option ID = 31207]
3. Fiji / fost

[Option ID = 31208]
4. None of these / sot 3 @IS oft ordt

foptiomtD—="3120%]

Correct Answer :- www.FirstRanker.com
o Fiji / fivsht
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MOUNT ETNA fépar o1 @1 uos gfitng sarcmgdl 37

[Question ID = 7804]
1. ltaly / scoft
[Option ID = 31210]
2. India / sma
[Option ID = 31211]
3. Australia / siizferr

[Option ID = 31212]
4. None of these / sowt 3 @I oft ordt

[Option ID = 31213]

Correct Answer :-
e |taly / sccft
[Option ID = 31210]

75) Name the first non- Indian to receive Bharat Ratna

$IRA ¥col YT Dol dlcl Uscl 13- HIR(ARI DI ol JdIse

[Question ID = 7805]

. Martin Luther King / #nfder e feper [Option ID = 31214]

. Khan Abdul Ghaffar Khan / et seget siuwR aret [Option ID = 31215]
. Aubin Mehta / suferor disar [Option ID = 31216]

. Mother Teresa / aufeet dsar [Option ID = 31217]

A WN -

Correct Answer :-
e Khan Abdul Ghaffar Khan / et steget sy aret [Option ID = 31215]

76) National Adult Education Programme was launched which year in India?

IR R o181 PRI vRa 3 e adt 9ps fopa srm e?
[Question ID = 7806]

1. 1978 [Option ID = 31218]

2. 1947 [Option ID = 31219]

3. 1980 [Option ID = 31220]

4. 1988 [Option ID = 31221]

Correct Answer :-
e 1978 [Option ID = 31218]

77) The main objectives of the United Nations are the following. Select the correct answer.

AT AT D JIRI 329 forwaafeiRan 3 A&l star ur &l @1 fororel cem: -

[Question ID = 7807]
1. To maintain peace and security in the world. / aiifer 3fiz J2en gt g3l gorm 3 JoirRl 3ol

[Option ID = 31222]
2. To work together for education, health and culture / f1en, Fare sl Dl D e Brerp? BT Dot

[Option ID = 31223]
3. To develop friendly relation among nations / 3¢ @ dfa didfiyuf e faRa aon

[Option ID = 31224]
4. All of these / 2msft frsea

[Option ID = 31225]
Correct Answer :-
o All of these / it fdapeu
[Option ID = 31225]

78) The Scottish bacteriologist who discovered penicillin was the following?

ufsaferel &bl s ol arcl Fdifesr sfiamy dsnfore fosiferRad 3 dlet A
[Question ID = 7808] www.FirstRanker.com
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Correct Answer :-
e Alexender Flamming / vciasis? ueifdisr [Option ID = 31226]

79) Name the place in India where Garampant Sanctuary is located?

3 FATol DI olld SAIST SIBI R BT arurell srsaver fera 3?7

[Question ID = 7809]
1. Junagarh, Gujrat / Seiers, ISR

[Option ID = 31230]
2. Diphu, Assam, Hohma, Nagaland / diw, srw1, s, sieicis

[Option ID = 31231]
3. Gangtok, Sikkim / sierctew, Rifdraa

[Option ID = 31232]
4. None of these / sowi 3 @IS oft ordt

[Option ID = 31233]

Correct Answer :-

® Diphu, Assam, Hohma, Nagaland / diw, 3R, 8lsdl, slencs
[Option ID = 31231]

80) What is NIRVIK Scheme in India?

sird 3 NIRVIK =a¥stelr o= 3?7

[Question ID = 7810]
1. A scheme to help handloom Sector in India / #1Ra 3 serar 8iq 3 A D0l D o v Alslon

[Option ID = 31234]
2. Aloan scheme for exporters / foriami @ o v 5pu1 Alson

[Option ID = 31235]
3. Ahealth scheme / v Farzer Aston

[Option ID = 31236]
4. None of these / st 3 @IS oft ordt

[Option ID = 31237]

Correct Answer :-

® None of these / soii 31 dIs ot aidt
[Option ID = 31237]

81) How many Zeros are there is one hundred thousand?

e ord 3 fpdor 9Ig= 2k 37

[Question ID = 7811]
1. Four / ar

[Option ID = 31238]
2. Two /@ ar

[Option ID = 31239]
3. Eight / amo

[Option ID = 31240]
4. None of these / st 31 @IS oft ordt

[Option ID = 31241]

Correct Answer :-

® None of these / sowi 31 dIs oft aidt
[Option ID = 31241]

82) Which animal is known as the ship of the desert?
www.FirstRanker.com
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:I » FirstRanker.com

Birstranker's choice . .
[Option ID = 31242] www.FirstRanker.com www.FirstRanker.com

2. Dog / @ar

[Option ID = 31243]
3. Camel / dacr

[Option ID = 31244]
4. None of these / sowi 3 @IS oft ot

[Option ID = 31245]

Correct Answer :-
o Camel / dct

[Option ID = 31244]

83) Which organization presents National Governance Awards?

Dol T IH3TGl ASERI IIRTGI YRIPR YGIol Dl 37

[Question ID = 7813]

Department of Telecommunication / ggeiar fsmst [Option ID = 31246]

Department of Pharmaceuticals / wreizifemea fasier [Option ID = 31247]

Department of promotional Industry and Internal Trade / yar 3eher 3ii2 siidaf¥s «murz fasmer [Option ID = 31248]
Department of Administrative Reforms and public Grievances / gomifoi® JerR ik clle 9rprRIA fsmer [Option ID = 31249]

A wWw N -

Correct Answer :-
e Department of Administrative Reforms and public Grievances / yomifors R 3R i SR fsmet [Option ID = 31249]

84) Which Indian State celebrates Hornbill festival as the state?

BioifareT =B o fob ARART IS of Scad @ HU 3 IR
[Question ID = 7814]

. Nagaland / swmcts [Option ID = 31250]

. Arunachal Pradesh / srsumraet yger [Option ID = 31251]

. Manipur / afdgz [Option ID = 31252]

. Tripura / fegar [Option ID = 31253]

A W N -

Correct Answer :-
e Nagaland / sprets [Option ID = 31250]

85) Where is Mt. Aconcagua Located?

AT SrpiprE e 37

[Question ID = 7815]

1. Argentina / seidlen
[Option ID = 31254]

2. North America / 33t s@if¥ar
[Option ID = 31255]

3. Brazil / grsfter

[Option ID = 31256]
4. None of these / sori 3 @IS 9ft ordt

[Option ID = 31257]

Correct Answer :-
e Argentina / smiclen

[Option ID = 31254]

86) Guru Ravisdas jayanti was from which State of India

3% AURIGRT SRIdl HIRA @ b glod A AEa &
[Question ID = 7816]

Uttar Pradesh / 3= ggar [Option ID = 31258]

Bihar / fdsr [Option ID = 31259]

Punjab / dsma [Option ID = 31260]

Harayana / afamom [Option ID = 31261]

A W N -

Correct Answer :- .
e Uttar Pradesh / 3 gt [Option ID = 31258] www.FirstRanker.com
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W.ﬁﬁmﬂ@@?@h@;{gﬁqﬁzﬂﬁmﬁﬂ%ﬂﬁn@@m%’ _
[Question ID = 7817] www.FirstRanker.com www.FirstRanker.com

China / et [Option ID = 31262]

India / smea [Option ID = 31263]

USA / 3igep s suif¥ar [Option ID = 31264]
Canada / @womst  [Option ID = 31265]

A W N -

Correct Answer :-
e China / dier [Option ID = 31262]

88) Which of the following report is not released by the World Bank?

forgoifeiRaa & A olar At RUé fara Job gRI SId o1dt &t o1 3?7
[Question ID = 7818]

. World Development Report / faea faor f3aié [Option ID = 31266]
. Ease of doing Report / Rl @2l 3 smiett [Option ID = 31267]
. Global Economic prospect / df%aa anféfas Jsmaon [Option ID = 31268]
. Global Gender Gap Repor / scitget Sis? stu Buid [Option ID = 31269]

AWN—\

Correct Answer :-
e Global Gender Gap Repor / aeilqet Sis2 stu Ruld [Option ID = 31269]

89) When was Mizoram State formed?

firsiizar IS o9 golr en?

[Question ID = 7819]

1. 20t Feb 1973 / 20 weast 1973
[Option ID = 31270]

2. 20t Feb 1980 / 20 wzast 1980
[Option ID = 31271]

3. 20t Feb 1987 / 20 waast 1987 @t

[Option ID = 31272]
4. None of these / sowi 3 @IS 9ft ordt

[Option ID = 31273]

Correct Answer :-
e 20t Feb 1987 / 20 waast 1987 @t

[Option ID = 31272]

90) Bronze Dancing Girl was excavated from which of the Historical sites?

PIRI ofe cr5<hl bl Har$ fopar VeIl rerer A g8 of1?
[Question ID = 7820]

. Kalibangan / @reftdsn [Option ID = 31274]

. Mohanjodaro / sitset sitigst [Option ID = 31275]

. Lothal / eherer [Option ID = 31276]

. Dholovira / efendtzr [Option ID = 31277]

A W N -

Correct Answer :-
e Mohanjodaro / aiigat Silgs! [Option ID = 31275]

91) In which state and the city of India the 19t Hunar Haat was inaugurated?

19 d goR 3Ic @I HRA & P = 3iiR 9182 3 Igwn fopan srn?

[Question ID = 7821]
1. New Delhi / o feectt

[Option ID = 31278]
2. Jaipur, Rajasthan / srge, Isrers

[Option ID = 31279]
3. Jabalpur, Rajasthan / SeiyR JsRee

[Option ID = 31280]
4. Indore, M.P / &, aig

[Option ID = 31281] www.FirstRanker.com

Correct Answer :-
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92) When was the UDAN Scheme was lalmchea/yww.FlrstRan ker.com www.FirstRanker.com

UDAN =iistelt @59 9Rs &1 a1$ ofi?
[Question ID = 7822]

2015 [Option ID = 31282]

2016 [Option ID = 31283]

2017 [Option ID = 31284]

2019 [Option ID = 31285]

AN wnN -

Correct Answer :-
e 2017 [Option ID = 31284]

93) Which country for the first time has claimed to use the antibody test to track coronavirus infectious?

PRIGIARIRA ABGEAD DI $P B D 1 usedl ar b 391 of TEEiSt utervr o1 IuRNeT Bt BT orar foar 37
[Question ID = 7823]

1. China / dior [Option ID = 31286]

2. Singapore / Rpmyz [Option ID = 31287]

3. India / s [Option ID = 31288]

4. Japan / smuret [Option ID = 31289]

Correct Answer :-
e Singapore / Rmyz [Option ID = 31287]

94) Which of the following tools are used to measure income inequality?

3RI 3RAATSIAT DY AUl D fe1u forger 3 A fobar SumvT B1 IURNET fds=n Sirar 3?7

[Question ID = 7824]
1. A) Lawrence curve / cif33 adg,

[Option ID = 31290]
2. B) Gini coefficient / fBroofl spricd

[Option ID = 31291]
3. C) Both (A) and (B) / (A) diiz (B) d¥eit

[Option ID = 31292]
4. D) None of these / soldi 31 @IS #ft ordt

[Option ID = 31293]

Correct Answer :-

e () Both (A) and (B) / (A) siiz (B) grait
[Option ID = 31292]

95) Which of the following blood group is Universal Donor?

forgatferRaa 3 3 et a1 3 APE Yforaziel Sor 3
[Question ID = 7825]

1. A positive / v IR [Option ID = 31294]

2. A negative / u. aprRIca® [Option ID = 31295]

3. O positive / ait. rRcas [Option ID = 31296]

4. O negative / il si@RIA® [Option ID = 31297]

Correct Answer :-
e O positive / ail. JwrRIcHEs [Option ID = 31296]

96) Consider the following statements Which of the statements given below is/are correct?
A.Dodabetta is located in Nilgiri hills.

B. Marusthali is the characterstic feature of Indian Desert.

C. Western Ghats passes through 8 states.

Choose the correct answer from the options given below:

forafeiBaa weral) oo foap o
A. 3151zl oficifP1f} usiS:l 3 Rera 3
B. sszercil sl B rrer & ail¥fepe fdrerar 3

www.FirstRanker.com
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and B only 3

[Option ID = 31298]
2. Conly / @aa C

[Option ID = 31299]
3. BandConly/ B 3k C &

[Option ID = 31300]
4. ABandC /A, B air C

[Option ID = 31301]

Correct Answer :-
e AandBonly / @ac A siz B

[Option ID = 31298]

97) Consider the following statements Which of the statements given below is/are correct?
A. Pre-monsoon showers in Karnataka known as mango showers.
B. Hot, dry and oppressing winds blowing in the Northern plains from Punjab to Bihar is called Loo.

Choose the correct answer from the options given below:

forraifeiRaa weil ur frar @3

A . wifce 3 difoRiel @ usal &l aut @l smar bl qut @ Wy 3 Sirelr sirr 3

B.dsi 2 fer ao Sadl Aol scre! i dsol arcll se, 9vd iR SHeIPI a3l &I ¢f sl Sl &
SUR 3u 310 weell # A Blet AT W8 /3

[Question ID = 7827]
1. Aonly / @aa A

[Option ID = 31302]
2. Bonly / @ac1 B

[Option ID = 31303]
3. BothAand B/ A iz B il

[Option ID = 31304]
4. Neither AnorB /ardrA sicardt B

[Option ID = 31305]

Correct Answer :-
e BothAandB /A 3z B gleit

[Option ID = 31304]

98) With reference to the Eklavya Model Residential Schools (EMRSs), consider the following statements: Which of the
statements given below is/are correct?

A. The scheme is being implemented by the Ministry of Human Resource Development.
B.They are set up in States/UTs with grants under Article 275(1) of the Constitution of India
C. In these schools, education will be entirely free.

Choose the correct answer from the options given below:-

eI dAfsel marik Taell (EMRS) & v 3, forgorferRaa wemell ur far «3:

A 118 AISIoll Aloid JAIEI61 RIBGRT #iqIcrI gRI oriifsaa & s 36 3

B.ad siea @ faenst @ srerede 275 (1) @ dsd 3iolglel arcl Is:al/dgeni3ra ggoii af renftra &
C.zot1 Tl 9 forgm gt e A JYua il

SUR feu a1 weyEl 3 A PBlel AT AS 3/3: -

[Question ID = 7828]
1. Band C only / @aa Bair C

[Option ID = 31306]
2. AandConly /A sie C & www.FirstRanker.com

[Option ID = 31307]
3. Bonly/ B
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Correct Answer :-
e BandC only / @aer Baiiz C

[Option ID = 31306]

99) When verbal and non-verbal messages are contradictory. It is said that most people believe in:-

S AiRad 3z 31z-diRad Aol foRiemRl 3id & V31 dar il 3 o6 RCIaz dier $3d faeart w2 3: -

[Question ID = 7829]
1. Interminate message / 3Riifér icor

[Option ID = 31310]
2. Verbal message / #iiRaw® et

[Option ID = 31311]
3. Non-verbal message / skx-aiiRaem ider

[Option ID = 31312]
4. Aggressive message / 3I@EAD AS9A

[Option ID = 31313]
Correct Answer :-
e Non-verbal message / si-#iiRawm Jider

[Option ID = 31312]

100) Sustainable Development goals (SDGS) are formally known as:-

Jad faera aga (SDGS) siiuai¥es wu A S S 3: -

[Question ID = 7830]
1. Transforming our world: 2030 Agenda / gform 3 swjet gab ufsacder 2030 waist

[Option ID = 31314]
2. Sustainable living for All: 2022 Agenda / sft & fére Jaa Shiaer: 2022 wsist

[Option ID = 31315]
3. Life of Dignity for all: 2022 Agenda / Jmft & fere Sfiaet i yferor: 2022 waist

[Option ID = 31316]
4. One planet, one people, 2030 Agenda / v 3J8, v clr, 2030 woist

[Option ID = 31317]
Correct Answer :-
e Transforming our world: 2030 Agenda / gforr 3t 3mget b uf¥adoer 2030 wsist

[Option ID = 31314]

www.FirstRanker.com



